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12.4 Similarity

What does it
mean to be similar?

Similar or not?
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True or False?

All squares are similar to each other. )WM

All isosceles triangles are similar to each other. '?A\Se_

All Pentagons with congruent angles are similar to each other. ’\‘V\A.Q,

All rectangles are similar to each other. %’k\s‘!—
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All isosceles trapezoids are similar to each othye(r;-\?_ '_;f >S . P

All regular hexagons are similar to each other. W

All circles are similar to each other. X“WQ

All rhombi are similar to each other. EE
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Are there any similar triangles in this Isosceles trapezoid?
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What about this right trapezoid?
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Similarity Theorems
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ABAD~NAACD bﬁ AA.

Inthe asove figure, if angle ABC is congruent to angle CAD,

how long is BC? G | o X9
a 4 17 "4
Bc=RP-Y _ g
X= —‘\;\ =20.1%
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AFRTNASQQ JDU AA.

Inthe aBsove figure, if angle RSQ is congruent to angle RPT,
how long are RQ and PT?

N I
5) s(\z}(&%\x )q < 2(9= 4

QY = (x+)¥x @

SY= w4y
O= x*3x-CY

D= {+a)-6)
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1. If we know segment DE is parallel to
segment BC, are triangles ADE and ACB
similar? o
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D S DADE~DNABC
Ndpe~NBac
DEAD
® 7 ——c ~nCpb
DACH~DAED
2. Ifwek triangles ADE and ACB
simiIaV\r/,eis zgévmgi?%eEsparaII:Into segr:gra\t B Ave NAP\C@
BC?
A
\D!(au.u

D)

o ZAED F mLACR,

o



12.4 September 28, 2013

o |

C""?IM“MH'/ gfm'\\wf\\\a Wh ghd :
\C

AKET EMKIT by SSC

< R
° C
by AAS, | é

A BAC= ADCA

T S
BSPA T ADPM O
by SAS 5 xo

~\

0
bu AAS ATm0=
/
ASrv\\/



12.4 September 28, 2013

oy
Nno & A~
AN (& )
S‘(ot(-eru_ >
( A ~pRTE
N
(height 2 v
on  1SOSCeles
r ,.\3
H vigki- ‘|V\'a.KjL< SSA cate_
Ao DR o pADYDBUD
\'>
Iﬁv N
g lar pe *z\?fqn
A £ Yy SAs, APATS D Pen

10



12.4 September 28, 2013

by SSS, AABD«AC@D
= m<A =ml<

2| 42me2= L0

aMo{ Zw& l‘l'?_md.g:gcoa
all ovresponding angle Aml2=ml 3
gre 2aMe S rhomly arg gn,!

law

N y —
Dy lah o “’iq\,x “4) N ; 2
P
[-1} i

1"



